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Acceleration Problems Practice

You MUST show your work. Showing your work has three steps: Write the formula, plug in the numbers, do the math. Circle your answer!

1. Rob is really bored one Saturday night and goes outside to study the nocturnal habits of mice in the hayfield. He sees a mouse sniffing along at 0.1 m/s but it hears and starts to scurry for safety. In just 3.7 s it speeds up to 0.9 m/s. Find its acceleration. 

2. A roach moves down the hall at 1.2 m/s. When he sees the janitor coming down the hall, he begins to run. After 3.2 s, he is moving at 3.6 m/s. What is his acceleration? 

3. Instead of doing his work, Georges throws a textbook at Devine. After just 0.2 s, it is moving at 10.4 m/s. Find its acceleration. 

4. Stewart and Matt decide to take the train to the Grand Canyon. The train starts from rest and reaches a speed of 54 m/s in 10 s. Find its acceleration. 

5. During his experiment, Devin finds that his rocket starts from rest and accelerates to a speed of 220 km/h in 0.006 hours. What is the acceleration? 

6. Looking for some good old-fashioned fun. Andrew decides to slide down the hill by the staff entrance on a toboggan. Calculate the acceleration of the toboggan that reaches a velocity of 32 m/s in 8 s. 

7. While participating in the "Tractor Race Finals", Rob accelerates his tractor from rest to a speed of 18 m/s in 6 s. What is Rob’s acceleration? 

8. Christina is printing off a sheet for science class and doesn't want to miss her bus.  Running out the door at an impressive 18 m/s, she realizes that the bus is pulling away and she can't make it. She slows down and stops in 4.5 s.  Calculate her acceleration. 
9.  A car advertisement states that a certain car that Emily Miller loves can accelerate from rest to 19.4 m/s in 7 seconds. Find the car’s average acceleration. 
10. Megan hits a softball into the stands. She rounds the bases and crosses home plate at 7.5 m/s. Her journey takes 6 seconds. What is Megan’s average acceleration? 

11. Dominic Roth is in a roller coaster car, which rapidly picks up speed as it rolls down a slope. As it starts down the slope, its speed is 4 m/s. But 3 seconds later, at the bottom of the slope, his speed is 22 m/s. What is its average acceleration? 
12. Mrs. Bontkowski watches Connor Ladone on the basketball court. Connor dribbles the ball from one end of the court to the other. With an initial speed of 0 m/s and final speed of 14 m/s, he accelerates at a rate of 2 m/s/s. How long does it take Connor to get from one end of the court to the other? 
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